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Infrared	(IR)	Spectroscopy	
from chapter(s) _______________ in the recommended text 

 

A. Introduction 
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B. Origin Of IR Absorbance 
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D. Assigning Structures From Spectra 
 
 

 
 
 
 

 
 
 
 
 
is ____acetone_____ . 
 
 
a ____C-H___ bond. 
 
 
a ____C=O_____ bond. 
 
 
 
is ________acetonitrile________ . 
 
a _____C-H____ bond. 
 
a ____CºN_____ bond. 
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The following is an FT-IR of compound “cml-1-52-sm”.  Write A on the 
absorbances corresponding to the amine N-H stretches, C on that for the CO 
stretches, and CH for the C-H stretches (taken as a thin film on a NaCl plate).   
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